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For questions 1-6, choose the best word or 

expression to fill in the blank(s).

1.  David : Pandas are at risk of extinction.

Mary : Why are they in danger?

David : Because - - - -.

A) we can watch a documentary

B) the police caught them

C) people are killing them

D) they are big animals

2.  Jack : - - - -?
Steve :  I’m unplugging the TV. We shouldn’t waste 

electricity.

A) What are you doing

B) Where are you going

C) What does ‘unplug’ mean

D) Which programmes do you watch

3.  Presenter  : - - - -?
Mrs. Parker :  There are many, but water and air  pollution 

are the most common.

A) Why do people pollute the environment

B) Who causes pollution in the world

C) How can we stop air pollution

D) What types of pollution are there

4.  Jessy : Hey! What are you doing?

Mark : I’m combing my hair.

Jessy : The water is running. Don’t waste it. You should  

   - - - -.

A) keep off the grass

B) turn off the tap

C) use public transportation

D) plant a tree

5.  You drive everywhere. I think you should - - - -. It is 
healthier.

A) walk or cycle

B) water the plants

C) eat more vegetables

D) be punctual

6.  Teacher : What should we do to save energy at home?

Jack : We should - - - -.

A) feed the street animals

B) keep off the grass

C) unplug the TV after we turn it off

D) use the remote control of the TV
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For questions 7-8, choose the best option that matches 
the given statement.

7.  Turn off the tap.

A) B)

C) D)

8.  The children are picking up garbage.

9.  

Which of the following is CORRECT according to the 
given visual?

A) Don’t waste energy!

B) Recycle objects!

C) Don’t throw rubbish!

D) Use public transportation!

10.  Which of the following matchings is NOT correct?

She is turning off the lights.

He is drinking water. 

She is brushing her teeth.

He is throwing rubbish.

A) B)

C) D)

Complete sentences 11-12 according to the text below.

Pollution is a big problem in our world. We should 

often use public transportation or bicycles to reduce air 

pollution. We should plant trees, and  we shouldn’t make 

a fire in the woods. After picnics, we should always collect 
the rubbish around and keep our environment clean.

11.  To save the forests, we - - - -.

A) should ride bicycles

B) should have a picnic

C) shouldn’t make a fire in the woods
D) shouldn’t use public transportation

12.  To reduce air pollution, we should - - - -.

A) often use public transportation

B) unplug the electrical devices

C) never cycle in the woods

D) turn off the taps


